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Name _________________________ 

 

 1.    
ଶ଻  

ଵଶ =   2.    
ହ଼

  
ସହ =   3.    

ଵ଺  
ଶଷ =  

 4.    
ଵଷ  

ଷସ =   5.    
ଵଶ  

ଶଷ =   6.    
ଵଷ  

ଶହ =  

 7.    
ଷହ  

ହ଼ =   8.    
ଶଷ  

ଶଷ =   9.    
ଵସ  

ଵସ =  

10.    
ଵଷ  

ଵଶ =  11.    
ହହ  ଽ଼ =  12.    

ଵହ  
ଵଷ =  

13.    
ଷସ  

ଷସ =  14.    
ଶହ  

ଷଶ =  15.    
ଵଶ  

ଵସ =  

16.    
ଵହ  

ଵସ =  17.    
ସ଻  

ଶହ =  18.    
ହ଻  

ହ଺ =  

19.    
ଷ଻  

ହ଺ =  20.    
ସଽ  

ଷଶ =  21.    
଻଼

  
ସହ =  

22.    
ଵଶଵହ  

ଵଶ =  23.    
ଵ଴ଵସ  

ଵଷ =  24.    
ଵ଻  

ସହ =  

25.    
ଷ଻  

ଵସ =  26.    
ଷ଼

  
଺ହ =  27.    

ହଵଶ  
ଷଶ =  

28.    
ଷ଼

  
ଷ଼ =  29.    

ଶଷ  
ଵଷ =  

C  29 M 56 E  16 U 1021 S  12 N  116 L 310 X  120 B  49 T 914 H  710 I 415
A  25 Y  215 P 1033 L  328 L 45 J  13 D  35 I 37 V  17 I  19 C 518 C  435
A 1625 F  38 Q  115 T 716 O  514 I 34 T  521 P  14 O 415 G  23 T  18 N 932
T 316 R  916 A 1112 B  89 W  964 B 921 K  835 N  2542 L 1951 C  920 E 512 G  58

 

Answer: 
 ___  ___  ___  ___  ___  ___  ___  ___  ___  ___ ___  ___  ___  ___      ___  ___  ___  ___  ___ 

To solve the riddle: 
1. Write each answer in lowest terms.
2. Cross out every box below that contains an answer.
3. Write the letters that remain on the line to read the answer.

What is the oldest 
table in the world? 
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 1.    
ଶ଻  

ଵଶ =  ଵ଻  2.    
ହ଼

  
ସହ =  ଵଶ  3.    

ଵ଺  
ଶଷ =  ଵଽ

 4.    
ଵଷ  

ଷସ =  ଵସ  5.    
ଵଶ  

ଶଷ =  ଵଷ  6.    
ଵଷ  

ଶହ =  ଶଵହ
 7.    

ଷହ  
ହ଼ =  ଷ଼  8.    

ଶଷ  
ଶଷ =  ସଽ  9.    

ଵସ  
ଵସ =  ଵଵ଺

10.    
ଵଷ  

ଵଶ =  ଵ଺ 11.    
ହହ  ଽ଼ =  ଽ଼ 12.    

ଵହ  
ଵଷ =  ଵଵହ

13.    
ଷସ  

ଷସ =  ଽଵ଺ 14.    
ଶହ  

ଷଶ =  ଷହ 15.    
ଵଶ  

ଵସ =  ଵ଼
16.    

ଵହ  
ଵସ =  ଵଶ଴ 17.    

ସ଻  
ଶହ =  ଷ଼ହ 18.    

ହ଻  
ହ଺ =  ଶହସଶ

19.    
ଷ଻  

ହ଺ =  ହଵସ 20.    
ସଽ  

ଷଶ =  ଶଷ 21.    
଻଼

  
ସହ =  ଻ଵ଴

22.    
ଵଶଵହ  

ଵଶ =  ଶହ 23.    
ଵ଴ଵସ  

ଵଷ =  ହଶଵ 24.    
ଵ଻  

ସହ =  ସଷହ
25.    

ଷ଻  
ଵସ =  ଷଶ଼ 26.    

ଷ଼
  

଺ହ =  ଽଶ଴ 27.    
ହଵଶ  

ଷଶ =  ହ଼
28.    

ଷ଼
  

ଷ଼ =  ଽ଺ସ 29.    
ଶଷ  

ଵଷ =  ଶଽ

Answer: 
 M  U   L   T   I   P   L   I   C   A   T   I   O   N     T   A  B   L  E 

To solve the riddle: 
1. Write each answer in lowest terms.
2. Cross out every box below that contains an answer.
3. Write the letters that remain on the line to read the answer.

What is the oldest 
table in the world? 

514

Copyright ©2009, 2012 T. Smith Publishing. All rights reserved.




